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15 Minutes of extra hme has been allotted for the candidates 1o read the questians carefully
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This question paper ts divided into two sections — Section - A and Section - B. )
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In Section - A, there are 50 objective type questions which are compulsory, each carrying 1 mark Darven

the circle with blueblack ball pen against the correct option on OMR Answer Sheet pronded o you
Do not use Whitener/Liquid/Biade/Nail etc. on OMR Sheet; otherwise the result will be invalid.

6. TS — 7725 FY G757 &) (WRF B [0 2 ow Friifa &) frd @ et 15 g &
GV & ST B g IfiRw g wve § g i gelly gva D T & (gw F v s
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in Section - B, there are 25 short answer lype questions (each carrying 2 marks). out of whch any 15

questions are fo be answered. Apart from this, there are 8 Long Answer Type questions (Each Camyng §
marks).Out of which any 4 questions to be answered.
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T8 -3/ SECTION-A

TS 1 / Objective Type Questions
T & RE g @ w g Rr v T 4 o 2 v &8 &1 3

ST g g
o T Fe A S OMR - ¥z 7 RFXT ¥ (sax1=50)
m-\'ﬂ. ;m -
: 20 Rave four optians, out of which only one is correct. You have to mark, your selected
l"’“”"- o the OMR - <y cet (50xd=50)
R TS
€y cosl x i
s X (D) SiNX CosX
"‘Tﬁmmﬁ[x 151_0*
4 R
) 3 4 (B) 15
(C) x| .
(0 4x
m'il!ixofluhcnlr 1SI=0i\_
i“_” 15 B) -5
() 3 (D) K3
R 1 2 4
LIATE T+ 1 3 6 $ =1 g —
1 4 9
A B -l
(C) 0 (D) 2
1 2 4
The value of the determunant |1 3 6 1s-
1 4 9
(A) | (B) -1
(C) 0 (D) 2
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(A) -3 - (B |

(€ I N L BN
§ a__,

Il‘-“ B

1% (1)

‘C] 1un'1:+k
L

4
6. nafyhm 3 3 3 7 sy ST e 2
(A) yde- (P 4y’ iy =0 A (xy)dx — (x* + vy =0
() (2x+y=Ndy - (x4 2y -3)dx =0 (D) (x = y)dy = (x* +y+ Iidx

Which of the following 1+ 3 bomoponoes &fforeatial cquaixon®
Ay ydi-(x'+y'My=0 B (- (P ytdy =0
(C) (2x+y =3y —(x 4 2y - Iudx = 0 (D (x-yMy = (a2 ¢y ¢ 1)dx

1. am197+45]-6k @ wow ¢

(A) \'m 1.1] \’-{-2-6

() Va2l ‘lm Va2l

The modulus of the vector 191+ 5] <6 ks -

{A) \'m 'l" \"_20

‘C' \'ﬁ lD‘ \-ﬁ
s- » 2 -

[xidx=

A b'-a’ (B) g -»

-~ 3 ,

(0 ai-b? (D) v e’

2 b
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Do =t s Ew Vv ea, A f A - B P B Ay’
w U0 (THF) (B) MR
I £(x1) = f(12) = X1 = X2 ¥ x4, X2 € A, then what type of a function is f: A = B?
(A) One - one (B) Constant
() Onto (D) Many one
10 gz p=[ 23 A Prenfam 2 o A7 T 8
A [213 ® [+ 59
5 6 1 2 3
(C) 1 4 (D) 3 6
25 25
3 6 1 4
ITA= Ii g 2 . then which onc of the following is equal to A”?
(A) 213 (B) 4 5 6]
5 6 1 2 3
€ [t 4 mm [3 6
25 2 5
3 6 1 4
1. ptdx_,
J'z x
(A) |ng§ (B) Iogg
! D b
S log: @ log?
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12,

13.

14,

uﬁ'l(l(l,mzmlls‘!

/
AT sin~! — (B)
1+x?
© sin™! 1-xf (Dy
1+x?
If -l<x <] then 2tan ‘v =?
A
(A sin”! 2x ®
14xd
(©) 1 -¢d D
sin!
14xd
(A~ B JTOTe w37 g o -
(A)  f(A)cB (B
() fiAoB m
{ A — B will be an onto fencton of -
(A) f[(A)cB (®
(C) f(A)>B (11 ])

iuu-n
ftA)e B

ftA)eB
ftA)»B

afk P(A) =2, P(B)m . PANB) =} # PAUB) ="

(A) B

©

I(P(A) =2, P(B) =}, P(ANB) = {. dea PAUB) =

(A) (B)

(o) (D)

il

A

BIw e

[121/327)F Page5A16



15, 168 e &) wh wa van @ UYmn q R A @ A1 A e
(A wgs v qwom # (B
(O wwtha & D)

m aa R -

anfie M2 armiw &

5'.{:} N ng il

In the set of afl straight lines in a plane, the relation R "o be Perpendicular” 15 -

(A) Reflexive and transitive (" Symmetne and transitive
(C) S)’llllllleiC (M None of these
16. [sIn20° —cos20°
sin70®  cos70°
(A) 1 m -
AC) 0 m 2
. f;llﬂnxl =7
A1 (B) -1
- X U
(o m L
18. °
s sin’xdx =7
H
(A) -1 -(B) 0
© ™ =
"
19. Jj cosxdx = ? )
YIS B
(C) ; ™ 0
20. d-d;[sin" x+cos™'x] =7
.'; - l
1 1) ) B s |
© - FVI-x
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2l. PAUR) =2

AY A +PBY+ (A AB) M AP -PAANR)
O PAYPBY-MAAR) (D) PA)-PB)+ PAAND)
22, d
Ellanxl:?
~AAR)  secly (M secx
(C) cot x M”m  -secix
3. ITFA T L 4 yseex = ta T ITA ¢ -
e nx Goliuic
(A secx +tanx n secx — tanx
(€)  secx (D)  tanxsecx

Integrating factor of the differential equation :—:- +ysecx =tanxis-

(A)  secx+tanx (B) secx—tanx
(C) secx (D)  tanxsecx
2 N |
sin p =?
(A)  sec™'x By~ cosec™!x
(C) tan~1x (D)  sinx
5. kxk=12
(A) 1 ® -l

(C) k? \(9/

26. zfR sa*b=2a+bA AT &), A (2+3)+428 -
( 18 (B) 17

(C) 19 (D) 21

The operation * isdefinedasa*b=2a+b,then (2+ 3)* 4 is -
(A) 18 (B) 17
© 19 (D) 21
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27,

28,

29.

31

m\ R T " . . , " ”I'.Iﬁ
*.a-|+|42h.\mh.-,q.'u;_|{p n(,.-nn)(z.; b)

l:\} 15

m 18
© gy o
=4 . . . . . ‘ « _h)is -
=i i +Zkand b= 37427~k , then the value of (i +3 b).(24 b)
W s ® 18
) a8 o IS

ty -
FIFF e :T:-ycosxzsmxcosx &1 e o ¢

(A) e N ‘Lm/ st x

(0C) g fosx D) . oOs X

Integrating factor (1.F) of the differential equation ;—’E — y COSX = SiNXCOSX I8 -

(A) e~sinx w’/ osinx

(C) gmcosx (D) ee03 X
[ x"dx,(n = 0) = ?

{f‘) gr_l xn*!
no1 +k ey +k
(C) x"*1 4k (D) x4k

Cc 2 ij/o
d o yoy
lsin™ x] =2

1 -1
W ® 5=

1
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y N 0 10 5
1

(A) it = _"\--.1. A fv=2y=-%
La] vE e () fr=-1y=6
2fg Jely Nl Bl e
(A) (vm -2y =8) (") (a=ly=-%
() (x=1y=-6) (m (x=-)y=6]
A Py =
(A) n{E) + n(s) (B) :;r_:*
-]
(C) n(E) - n(S) J,DD/ il
n(s)
M,

7- 3 A e FrEm ¢ -
(A) (0. 0.0

(B) (1,0,0)
0.0 M.n.h

The direction cosines of z-axis are -
(M (0,0.0)

(B) (1.0.0)
(€) 0. 1,0

(D) 0,0, 1)

35 Prerfafea sraggl 4 @1 313 w0 B @ie IR ¥R
(A) 1 0 0 ( 1 00
1 00 & {0 1 0]
1 0 0 0 0 1
(C) 0 0 1 (D) 010
0 0 1 010
0 0 1 ' 0 10
Which of the following is the unit matrix of order 3 x 3?
(A) 1 00 (B) 1 0 01
1 00 0 10
1 0 0l 0 0 1
€ [0 0 1 m [0 1 0
0 01 010
0 0 1 0 1 0
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_u}, e

— g )

1+x?
AT x4 (1) tan’ x + ¢
(C) ol x4+ ¢ (m —eot x4

3. 147 (x,y, 2) w1 fafy wfzn P -
A xi-yj-zk B)  xi+yj-rk
(C)

xi-yj+zk M) xisyjezk
The position vector of the point (x, Y. 7) 15 -
(A) X|'_)']._ZE (B) x|-+y1*_zy:
() Il--y].+2k‘ (M x|'+yi+2|;
. 5 (3 4 5) 1 x - 3m A 7h -

(A" 3 B) S
© Vil | My  pma g af

The distance of the point (3, 4, $) from v-axis is -

(A) 3 (B 5
() val (D) None of these
39, 1
sin'{—=) =?
(%)
3 n @ _7
1 3
G 0 Mm _T
2 2
40, _I3 6 _[7 B —_n
A=lg ) p=[g ¢ m2av3m=
(A) 27 24 BT 27 36
22 10 25 10
€ [27 36 D) [:1 36]
25 15 5 10

[121/327] F Page 10/ 16



W Jooeecidy =

LY tany 4 ¢ B —goty & ¢
L8] JrDER ¥ 4 M ~dronee X 4 ¢
€ mryatiam-n y=leu-5 @ Ay (2 .1) 7 vod Yon @ gEem R -
iA) 1 (B) .
- b4
(C) . m) L.

7

The slope of the tmpent sothe curve x = 17 4 31 =8, y = 2t — 21 = § at the point (2. -1} is -

(A) u B) =2
b b J
(Cy . (D) <3
T 7
4. W () = 250 b w g -
(A) i (B) 1
|
AC) ¢ (M 1
The maximum value of f(x) = 5'—' is -
(A) 1 (B) 1
[ ]
(Cy c (D) !
[ ]
4., pn'sect'an?
(A) 0 (B) 1
c_-—"m (D) _n
2 2
45. P(A)+PA)=?
(A) 0 AB) 1
(&) -1 (D) ME)
[121/327) F Page 110l 18



46.

w1 R | 'll

/ y x
) ey B a-y
G -y o =%

o 1 -1
Evaluate I!f' XI

(A) x4y (B) X-y
(€C)  -y-n (D) l-x
a7 [ sinx cosxdx = ?
YR B
1 S
() - =
: LA
B sara wham 4o (2 - ‘R e R
: w X (;l_;) =X €T
(A) | ‘JR]' 2
(€) 4 (D) 3
The order of the differential equation &y +x3 (91)3 =x*is-
“q dnd dx '
(A) 1 —B) 2
) 4 o 3
9. & _,
0 14x?
(A) -2 —(B) s
4 4
© 3 ~ o ==
2 2
50. [secxdx="?
(A)  log|secx|+¢ _(B log [secx +tan x| + ¢
(€ log [secx —tan x| +¢ (D)  secxtanx+c

'y
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Yvs —q/ SECTION-B

LS W% / Non - Objective Type Questions

9Y I 4¥ /Short Answer Type Questions

YT T 1 25 0% 7y gEda &) el 15 R @ g &1 A B IV 2 HE Praffe
& (15x2=30)

Question No. I to 25 are short answer type. Answerany 15 questions. Each question carries
2 marks. (15%x2=30)

R R R % [ f(x) = (3-_-¢3)1. C @ g &6 (foh (v =x

IFF:R = R such that I(x) = (3 - xa)%,lhcn prove that (fol) (x) = x

Prove that -

a

sec’(tan™'2) + cosec?(cot™13) = 15
3 frg e - (2)
Prove that -
tan~Wx =§ cos™! —

Prove that -

[coslS" sin 15°) _
sin75° cos75°) ~

5. W B TR T@ R - 2)

- Evaluate the determinant -
4 9 7
3 5 7]
e 5 4 5
\)/&W)’Wqﬁﬁmﬂﬁ— (2)

Find the value of x and y if -

2o+ 2l=l5 s
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10.

13

R A= [q ‘Ixn*n 5 ] AB RYTrd|

|m=|-2 and B =

- 4| find AB
4 ﬁ?ﬂt-‘! afd y = cosvsin x
Fmda{ ify = cosvsinx
:—:W& af2 y = Vsinx
Find %if}‘ = Vsinx

E Pred aR y = cos'lt-T:;

1-x?
1ex?

&y o
31 et afk y = sin?x cosSx
X

Fmd il 1fy = cos™! —

ﬂ. — eind 5
Find ™ ify = sin"x cos®x
%ﬁiﬁlﬁ afk y = tan(x +y)

Fmd—j% if y = tan(x + y)

a7 fa -

Evaluate -

J cot?x dx

14 9 Prard -

\/ .

Evaluate -

J V1 +sin2x dx
u P -

Evaluate -

fjcoszxdx

(2

(2)

(2)

2)

2)

2

(2)

Q)

@)
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16, ¥d X -

Solve -

“'_‘_t,t y

v
17 B3 W -
Solve -
Xdy + ydx = 0
18, & N -
Salve -
dy , -
) 3;+}cotx-2cosx
\)9." g & fd -
Prove that -
YT SNt S, |
il = 2 B - &3
A af 3=27-37-5k @ b= -7i+6j+8k W@ aAx b A F
If3=27-3]-5k and b= -77+6]+8k . findax b
~ - _ -
A R 3=(2,3,-5) IR b=(2,2,2). @ Rrg W 6 7 IR b R = &)

If 3= (2,3,-5) and b= (2,2,2) , then prove that 3 and b are mutually perpendicular.

22, 7@ R A R (@ b.o) A g T B http://www.bsebstudy.com

Find the distance of the point (a. b, ¢) from the ongin.

TE 7 &1 T T B Al g (1, 2, 3) A o & R T I+ dy-52=0 3
TR 1

Find the equation of the plane through (1, 2, 3) and parallel to the plane 3x + 4y - 5z = 0.
2 IR G B B A TR I 7@ F1 A 8 A N T wREa 8, Ak wrew @
A U W EA 4 T R

Two dice are thrown. Find the probability that the numbers appearing have a sum 8 if it is
known that the second die always exhibits 4.

/zrﬁr P(a)=2,P(8) =2,P(AUB) = . A P(ﬁ) au PG) Pramdl |

I P(A) =2,P(8) =2,P(AUB) =2, then find P (£) and P (5)

(2)

2)

2)

(2)

@)

(2)

2
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26.

. & g u¥/Long Answer Type Questions
w¥T e 26 #mwﬂdwﬂamﬂmwﬂﬁmmmf?stm

Ruffa &1 ) « wr 7t &1 IR 3 @"‘5:?:)
Question Nos. 26 to 33 are long Answer Type Questions. [ ‘ach question carries § marks
(Ix5=20)

Answer any J questions.

. (8)
STt smn a uda @ SRS (0, 4) B Sita w3 E [(x) = (x-1) (x-2) (x3).

. D
Verify Lagrange’s Mean Value Theorem in interval [0, 4] . where function [ (x) = (x-1)(x-2)
(x- h

(5)
27. & I fyerd o2 vey=sec! (x-y)
dx
FmJ-E dfn+y=sec! (x-y)
28, FEEHFA B - (5
Integrate -
xe'
,-" I“,'t]l d‘{
. firg 7 - (5
me,clhal -
- \C(.'Il!
/ D yeolx+ v'l.m
gt x? +y = a° T ATFA TN gR1 AFTe | (5)
md the area of the circle x* + ¥* = a’ by integration.
3 z’mﬁmsc+;+2kmz:~2;+4k$zﬂaa%aﬁwmrsmcmﬂam )
Find the sine of the angle between the two vectors 37 +j + 2k and 271-2] +4 k.
3. fog & - ()
Prove that -
I+a 1 1 Lyt
1 1+b 1 [=abe(142+34Y)
[
1 1 1+
. AR T (Minimize) 2= - 3x + 3y (5)
@ (subject o) x+2ys8
3Ix+2ys12
x20,y20

-k o i 6 e
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